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P3-17(3.23)= A = ' MnZ,req . Mu/,0'81,7_Mn,0.004S, . Aty ’ A~ M2 req _ M, /0.817 — M, o 00as _ A fy
(d-d')(fi0000—085%) (d—d')( {0004 —0.85f() 0004 —085f (d—d ')( fd 0004 —0.85 fC’) (d- d’)( fy 0.004 —0.85 fc') fs 0004 —0.85f;
P3-19(3.29)=( A = ' N!nZ,req - Mu/o'gl_Mn,O.OOSS — Aty ' A - M2, req _ My/09-Myopess  _ A fy
(d-d")(fo0005—085%) (d—d')(f0005—0.85f;) fs0005—085f (d=d")( 0005 —0.85,) (d—d')( /o005 —0.85f) fio005~0.85f
P4-13 =} P IS Fiiip
Pa-14 £ = 2802 (17-0.756) = 0.047 £ = 282: (17-1.026) = 0.047
P5-8 p'=AJ(b,d) = SEMARLL - p'=A/(b,d)
P5-12 BEXF BER <A b=40cm - b=45cm
P5-36 Breq = (4)(2)+(0.95)(2) +(3.22)(Np min ) +(25.625)( Ny min —1) = (b =30) | KR BERBRIETBEEFPOBALSFMIE - St EHABREENRFHBT
© Ny =1.58 18 - B+ byeq =(4)(2)+(0.95)(2)+3.22+(25.625)( Ny min —1) = (b =30) =
N min =1.66 1% -
P6-23 EEEEMEREe<e, EEISAZTE B RS P,
P6-50 (RFIE ¢P, =106.35 ! ) R ¢, =109.213 |
P6-65 S0 ST IR §P,, = (0.65)(87.024) = 56.566 tf - SR ET BRI gP,, = (0.9)(87.024) = 78.322tf -
P7-7 BEBXF w, =5tf/cm? w, =5tfim
P7-16 h—c = &= EMWAFRIPEIRIBE - fn = REMAHRIPEAREE -
P7-28 (208 ) (b, d) = 2V, = 24.41F - (1081, )(b,d) =2V, = 23.414tf -
P7-37 Afy  (2x1.27)(2800) _gL28¢m : Afy  (2x1.27)(2800) _67.733CM
(@5)b,)  (35)() (35)b,)  (35)(30)
Afp  (2x1.27)(2800) _gsem - Afp  (2x1.27)(2800) _70.837 Cm *
(0.2 )(b) (0.24280)(25) (0.2J%)(by)  (0.24280)(30)
P8-15 BIRIMEORNGFRR| A =(6)(127)=7.620m? | = A 1eq > Amin - Al | EREKEIRNHER A = (8)(1.27) =10.260m° KRR A g * A in + BT
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W EEIEE 6-D25 B T8, BRE - ¢, 2 K, DY EE
B R ERISMI 4-D25 EHHE -

R EEES 6-D32 - BR "8, BEE - ¢, A2 K, P BENSEE
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